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Moltiplicazione a 3 cifre

281
x309

895
x483

434
X171

256
x132

Data:

318
x927

300
x505

172
X242

915
X616

www.snowmath.com

Punteggio:

335
x142

710
X511

982
X269

561
x346
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Moltiplicazione a 3 cifre

Nome:

281
x309
2529

0
843
86829

895
x483
2685

7160
3580
432285

434
x171
434

3038

434

74214

256
x132
512
768

256
33792

318
x927
2226
636

2862
294786

915
x616
5490
915

5490
563640

www.snowmath.com

Punteggio:

335
x142
670

1340
335
47570

710
x511
710
710

3550
362810

982
x269
8838

5892
1964
264158

561
x346
3366

2244
1683
194106
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